1. The sum of two numbers is 51 and their difference is 13.  Find the numbers.
2. The perimeter of a rectangle is 68 cm.  The length is four cm more than the width.  Find the dimensions of the rectangle.

3. One number is four more than another number.  The difference between five times the smaller and six times the larger number is 5.  Find each of the numbers.

4. The cost of 5 boxes of envelopes and 5 boxes of note paper is $25.95.  Two boxes of envelopes and 6 boxes of note paper cost $22.38.  Find the cost of each box of envelopes and each box of note paper.

5. Peanuts worth $2.90 a pound were mixed with cashews worth $4.60 a pound to produce a blend worth $3.30 a pound.  How many pounds of each kind of nuts were used to produce 51 pounds of the mixture?

6. A 2% solution of sulfuric acid was mixed with a 12% solution of sulfuric acid to produce an 8% solution.  How much 2% solution and how much 12% solution were used to produce 10 L of 8% solution?
7. Mrs. Garcia is 1 year less than 3 times as old as her daughter.  Seven years from now, she will be 4 years more than twice as old as her daughter will be then.  Find both of their ages.

